R&mH FAR25F1ADEFEAO

A0 110,686 (-39)
5 53,772 (-34)
T 56,914 (-5)
HFEE 43,8201% (-7)

x () AFRETAL
XA 25F 1A 18R

Rl AOZX Frk25F1H18

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 416 -5 182 -2 234 -3 175 -4
ELH] 215 0 100 0 115 0 77 0
E=H] 134 0 61 1 73 -1 59 0
KEH] 37 -1 15 -1 22 0 18 0
WNEL] 13 0 4 0 9 0 6 0
] 88 0 38 0 50 0 27 0
Eayestil] 50 0 7 0 43 0 7 0
P L ] 506 -2 273 -2 233 0 291 -3
FEH] 25 0 14 0 11 0 16 0
1 H] 196 -1 84 -1 112 0 91 -1
= =[] 184 0 99 0 85 0 100 0
] 233 0 121 -1 112 1 123 0
ZH] 157 0 71 -1 86 1 68 -1
& SHT 487 -1 251 -3 236 2 241 -3
FFrH] 81 1 38 0 43 1 46 1
1GRaH] 109 51 0 58 0 41 0
FASEH] 163 -1 77 1 86 -2 91 -1
—&T 0 0 0 0 0 0 0 0
NET 108 1 52 0 56 1 52 0
T&ET 141 -3 67 -2 74 -1 57 0
N&ET 86 -2 39 -1 47 -1 37 -1
NET 165 1 67 0 98 1 32 0
T&ET 253 93 0 160 3 124 1
1ok ] 356 2 153 0 203 2 186 1
SiEH] 2,617 -201 1,284 -10f 1,333 -10[ 1,086 -14
RFRE] 3,458 13| 1,665 8 1,793 5( 1,350 4
] 1,588 779 0 809 2 579 2
B a)=<tiil) 1,821 1 936 2 885 -1 787 2
FrERHE] 431 -2 198 -2 233 0 185 -1
FHATHT 3,622 -2l 1,819 -2| 1,803 0| 1,595 1
LLAEHT 2,380 -1 1,135 1] 1,245 -2 956 -2




VEIRH] 1,989 -5 959 -4 1,030 -1 625 0
Ll e 4,863 -3 2,404 2| 2,459 -5 1,892 3
JFEET R 2,162 3| 1,050 of 1,112 3 862 0
EBZRHE] 9,525 28| 4,655 10 4,870 18| 3,618 12
=2kH] 3,946 4 1,926 3| 2,020 1 1,500 0
[ EHET 1,126 -3 583 -1 543 -2 464 -3
EREFHIER — 2,614 -1 1,237 -2l 1,377 1 893 1
EREFHTERS) 1,835 -1 882 -2 953 1 652 1
EREFHT PG 7> 595 0 291 0 304 0 208 0
Er7KH] 5,659 2| 2,679 -3 2,980 5 1,940 5
g lii) 171 -1 166 -1 5 0 163 -1
ERH] 26 -1 14 -1 12 0 14 -1
ETRE—TH 408 1 213 1 195 0 183 2
ETREIZTH 302 1 129 1 173 0 140 1
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 244 2 116 1 128 1 79 0
rES 0 0 0 0 0 0 0 0
TEE—TH 415 -1 193 -1 222 0 185 -1
TEEZTH 741 -2 357 0 384 -2 344 1
TEE=TH 308 -6 150 -2 158 -4 140 0
WERAT—TH 496 5 231 4 265 1 235 1
RERE—TH 702 1 325 3 377 -2 335 1
EE=TH 428 -1 216 -1 212 0 221 -1
EMPRET—T B 323 1 137 0 186 1 145 1
Gl = 513 -5 245 -2 268 -3 249 -1
JtFEILE—TH 182 -1 82 -1 100 0 88 0
JtFEILETZTH 407 0 185 0 222 0 184 0
AR —TH 285 0 152 1 133 -1 148 1
AR —TH 463 -7 239 -2 224 -5 247 -3
FEH—TH 132 1 61 0 71 1 58 0
FZHZTH 334 0 156 -1 178 1 158 1
[REEIH 312 -2 144 -2 168 0 218 -2
wFEE—TH 133 -5 68 -3 65 -2 68 -2
RFEE =T H 271 0 114 1 157 -1 101 0
RAEI—TH 465 0 219 -1 246 1 176 0
FREIZTH 381 1 177 1 204 0 157 1
RREI=TH 512 -4 242 -3 270 -1 226 0
FRAFETI T H 412 0 183 0 229 0 164 0
FRETRTH 601 -5 259 -5 342 0 221 -2
FuRE—TH 217 0 122 0 95 0 106 0
FUEEI”TH 377 -1 217 0 160 -1 211 0
HIIEEE—TH 462 2 222 -1 240 3 213 1




HIGEAI”TH 333 -1 156 -1 177 0 132 -1
BRE—TH 153 -5 76 -2 77 -3 78 -5
BRI "TH 620 -3 292 -1 328 -2 283 -1
BRE=TH 541 9 280 4 261 5 236 7
BEEMTH 245 3 109 1 136 2 102 1
EEEATH 698 -6 329 -6 369 0 348 -3
Kt —TH 295 0 145 1 150 -1 128 0
XK —TH 231 0 115 0 116 0 92 0
AFH—TH 138 -4 66 -3 72 -1 68 -1
AFHZTH 8 0 4 0 4 0 4 0
AFH=TH 183 1 90 0 93 1 85 1
TEEIA—TH 672 3 319 2 353 1 241 -1
TEsETFE T H 325 3 147 2 178 1 128 1
TEEAR=TH 395 3 209 0 186 3 147 -1
TEEIFEM T B 499 -2 234 -1 265 -1 203 -1
TEEAATH 645 2 313 1 332 1 260 0
TEEIPRNT B 365 -1 188 2 177 -3 169 -1
TEsETFEE T H 668 2 324 2 344 0 310 1
TEEIFEA\TH 684 8 328 2 356 6 289 2
TERER—TH 1,486 16 708 8 778 8 614 4
THREERTTH 414 -4 214 -2 200 -2 168 -2
TEREIR=TH 662 1 314 0 348 1 271 2
TARETERMT B 1,146 -9 549 -1 597 -8 462 -4
TEHREERATH 1,021 6 544 4 477 2 535 5
T2REERANT B 573 -3 290 0 283 -3 315 0
TEZRERETH 1,490 -7 762 -1 728 -6 635 -1
TARETERNTH 1,256 -7 574 -3 682 -4 582 -4
TEREIRAT B 428 3 209 3 219 0 147 4
TEEIE—TH 88 3 46 2 42 1 73 2
TEEIEZTH 96 1 64 1 32 0 73 1
4N st 81,814 -8| 39,770 -12( 42,044 41 33,511 2
AEH]E 114 -2 49 -2 65 0 71 -2
AEHTA 107 1 53 1 54 0 60 1
AEHERE 12 -1 4 -1 8 0 9 -1
AREHT/NBR 113 0 52 0 61 0 52 0
AEHKH 10 0 6 0 4 0 6 0
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 8 0 2 0 6 0 4 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 450 -2 201 -2 249 0 244 =2
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 40 0 18 0 22 0 22 0
[1: SHTER S 33 0 14 0 19 0 20 0
[LERTEAR 63 -1 32 0 31 -1 34 -1
[LSHEHH 26 0 15 0 11 0 16 0
NG9 28 0 18 0 10 0 18 0
[LEE/NFS 44 -1 20 -1 24 0 21 -1
FEH] 37 0 22 0 15 0 24 0
[ S EEET 344 -2 174 =1l 170 -1 204 -2
SUEERSET 794 -4 375 -3 419 -1 448 -4
TR ET [ A _E 1,379 -2 666 0 713 -2 487 1
T2 X T ] EH 727 3 314 2 413 1 228 0
&R R 1,250 6 605 3 645 3 414 1
e 2K T iz E P 1,048 -2 519 -1 529 -1 367 -1
e 1,379 0 673 -1 706 1 456 0
e 1,161 -2 549 -2 612 0 420 0
TN ] = AR 3,938 -2| 1,913 1] 2,025 -3 1,412 0
TR X ERET 10,882 1] 5,239 2| 5,643 -1l 3,784 1
ERILIET_ESREESF 2,105 -1 995 -6/ 1,110 5 692 2
ERILIE] RSB 2,610 -2 1,301 1 1,309 -3 904 2
ERILLIETER/IM 2,055 -7 1,023 -6 1,032 -1 783 -3
BRI BT PaR T 1,525 -2 751 -3 774 1 516 -1
BRI LI BT iF 1,137 -4 561 -4 576 0 396 -1
ERLLIET) 1R 2,318 -2 1,139 2( 1,179 -4 820 2
ERILIE] R T 5,446 -10| 2,618 -5| 2,828 -5| 1,966 -7
BRI [X &R 5T 17,196 -28| 8,388 -21] 8,808 -7 6,077 -6
a 5t 110,686 -39| 53,772 -34| 56,914 -5| 43,820 -7




